XYZz,=98.12,100.0, 86.5

o= o (X-%) 1
bi-balz/

X, = 0,110, B, = 1,000
Crg=[AF+BA
6 OstwaldFarben (o)

Parameter:

Y & Name
94Y,  Lichtart P50
S, Yw=100 V=4

N v ,
von maximalem (m)C,g im ~100
Buntwertdiagram (A,, B,)

Lichtart PSO, ¥,,=100 Y, =4 656«1 Q,
Nare Bereich X, ¥, o

R, 570_775 6364 38.72 S50 008 0 as 401
Vi 495775845 9418 7.42 0454 0506 573 467
G, 495570 24.88 50.55 7.38 02709 0.6485 542 542c
C, 380570 38.5 65.37 86.46 0.2023 0.3434 491 601
B, 380495 17.64 092 8262 01601 0.00 467 573
M, 570_495 77.26 44.54 82.66 0.3778 02178 542c542
W), 380_775 98.12 100.0 865 0.3447 03513 100%
N, 380775392 40 346 03447 03513 4%

2, 380_775 17.66 180 1557 03447 0.3513 18%

a0=1, by =-04 60G, @ g

P50
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